[ Efficiency vs vertpos |

o A T T
() B . . .
> L H H .
e | : : :
> 08—+ ------------ e sneenee
c r N . .
[0} - : : :
(&} . H H
£ oel . i
T 0.6 H++++§++++++ at
R .
X : : + :
0.2 eeeedereeees reseenanass s
o+ ; : -
T i ‘
o I 05 :;"-- C R R
095: ‘ .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit100_RECO
ICleNd ., pQM_v0001_R000000001__Global__mkFit100tobtec_ RECO

N 1.2

‘g_) =

(g 1__ .................................... P
> -

[9)

2 L

8 0.8

=

(]

Ratio

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.8
A
. 0.7
E
»
D 06
>
g 05
o)
(&}
£ 04
()
0.3
02__ ................................................
01:_ ..................
nF. bl
o +WI -+
T C
4 C
%915 0 15 20

éim. PV z (cm)



	Contents
	Page 1


